Ati[h] 1 No(At) Ati[h] 2 no(At)
0<t1<100 105 0<t1<100 1
100 <t2<200 58 100 < 125200 5
200 < t3< 300 33 200 £ t3< 300 12
300 <t4<400 20 300 <t4<400 30
400 £ t5< 500 13 400 < t5< 500 81
500 < te < 600 9 500 < te < 600 82
600 < t7< 700 7 600 < t7< 700 30
700 < t8< 800 5 700 < t8< 800 15
800 < t9<900 4 800 < t9<900 4
900 < t10 £ 1000 1 900 < t10 £ 1000 1
1000 < t11 12 1000 < t11 1

Ati[h] 3 No(At) Ati[h] 4 No(A)
0<t1<100 5 0<t1<100 2
100 £t2<200 10 100 £t2<200 3
200 <t3< 300 33 200 £ t3< 300 8
300 < t4<400 29 300 <t4<400 13
400 < t5< 500 51 400 < t5< 500 21
500 < te < 600 82 500 < te < 600 27
600 < t7< 700 21 600 < t7£ 700 35
700 < t8< 800 12 700 < ts< 800 36
800 <t9<900 8 800 < t9<900 32
900 < t10 < 1000 3 900 < t10 < 1000 40
1000 < t11 10 1000 < t11 50

Atilh] 5 no(A) Ati[h] 6 no(At)
0<t1<100 30 0<t1<100 5
100 <t2<200 40 100125200 27
200 £t3<300 50 200 <t3<300 33
300 <t4< 400 47 300 <t4<400 41
400 < t5< 500 30 400 < t5< 500 58
500 < t6 < 600 20 500 < te < 600 30
600 < t7< 700 17 600 < t7< 700 21
700 < ts< 800 8 700 < t8< 800 15
800 <t9<900 7 800 <t9<900 14
900 < t10 < 1000 5 900 < t10 <1000 10
1000 < t11 12 1000 < t11 8




Atifh] 7 No(At) Ati[h] 8 No(At)
0<t1<100 1 0<t1<100 1
100 <t2<200 1 100 <t2<200 1
200 £t3<300 50 200 £t3<300 1
300 <t4<400 80 300 < t4<400 1
400 < t5< 500 100 400 < t5< 500 105
500 < t6 < 600 11 500 < t6 < 600 90
600 < t7< 700 7 600 < t7< 700 20
700 < t8 < 800 5 700 < ts< 800 15
800 <t9<900 4 800 <t9<900 10
900 < t10 £ 1000 1 900 < t10 £ 1000 9
1000 < t11 1 1000 < t11 8
Ati[h] 9 No(At) Ati[h] 10 No(At)
0<t1<100 50 0<t1<100 2
100 <t2<200 60 100 £t2<200 3
200 <t3< 300 33 200 £t3<300 11
300 <t4< 400 28 300 <t4<400 12
400 < t5< 500 33 400 < t5< 500 13
500 < t6 < 600 19 500 < te < 600 19
600 < t7< 700 17 600 < t7< 700 22
700 < t8< 800 10 700 < t8< 800 28
800 < t9<900 9 800 <t9<900 38
900 < t10 £ 1000 8 900 < t10 £ 1000 50
1000 < t11 2 1000 < t11 70
Ati[h] No(A) Ati[h] 12 No(A)
0<t1<100 5 0<t1<100 10
100 <t2<200 8 100 £t2<200 20
200 <t3< 300 40 200 <t3< 300 30
300 < t4<400 46 300 <t4<400 40
400 < t5< 500 61 400 < t5< 500 50
500 < t6 < 600 68 500 < te < 600 60
600 < t7< 700 17 600 < t7< 700 17
700 < t8< 800 15 700 < t8< 800 16
800 < t9<900 4 800 < t9<900 4
900 < t10 <1000 1 900 < t10 <1000 10
1000 < t11 2 1000 < t11 3




Ati[h] 13 No(At) Ati[h] 4 No(At)
0<t1<£100 2 0<t1<£100 9
100 £t2<200 3 100 £t2<200 20
200 £t3<300 2 200 £t3<300 35
300 <ta4<400 4 300 <ta<400 42
400 < t5< 500 100 400 £ t5<£500 58
500 <t6< 600 103 500 <t6< 600 40
600 £ t7£ 700 17 600 £ t7£ 700 38
700 < ts8< 800 15 700 <tg8< 800 5
800 £t9<900 9 800 £t9<900 4
900 < t10 £ 1000 8 900 < t10 £ 1000 8
1000 < t11 2 1000 < t11 5
Ati[h] 15 No(At) Ati[h] 16 No(At)
0<t1<£100 1 0<t1<£100 10
100 £t2<200 5 100 £t2< 200 22
200 £t3<300 7 200 £t3<300 33
300<ta<400 9 300 <ta<400 45
400 < t5<500 109 400 £t5<£500 54
500 <t6< 600 103 500 <t6< 600 42
600 £ t7£ 700 7 600 £ t7£ 700 36
700 < tg8< 800 10 700 < tge< 800 4
800 £t9<900 4 800 <t9<900 5
900 < t10 £ 1000 8 900 < t10 £ 1000 9
1000 < t11 2 1000 < t11 5
Ati[h] 17 No(At) Ati[h] 18 No(At)
0<t1<£100 1 0<t1<£100 20
100 £t2<200 5 100 £t2<200 20
200 £t3<300 10 200 £t3<300 35
300 <ta<400 11 300 <ta<400 44
400 £t5< 500 90 400 £t5<£500 45
500 <t6< 600 90 500 <t6< 600 40
600 < t7£ 700 15 600 £ t7£ 700 38
700 < t8< 800 12 700 < t8< 800 5
800 <t9<900 10 800 <t9<900 4
900 < t10 £ 1000 11 900 < t10 £ 1000 8
1000 < t11 9 1000 < t11 5




